M imé X

7 RZKBELEIRS
(1) TWAREERM K

(BAL 1)
PR T | | R | P | ek
B 4 0 1 3 )
iL A A | TR — — — — —
it 4 0 1 3 2
FRENEZE 21 8 33 14 13
fL A | abmiE 1 4 0 6 4
it 22 12 33 20 17
FRENEZE 612 400 576 606 473
fa KB FHEifEE 32 28 12 32 36
it 644 428 588 638 509
FRENEZE 637 408 610 623 488
H FHEEZE 33 32 12 38 40
it 670 440 622 661 528
M Gk 3 | A S ZEE X B =R (%)
R 0 0 2 12
ie A A | abmiE — - — — 0.2%
2t 0 0 2 12
EENESE 7 10 135 241
B K /| FHEifESE 0 0 10 25 3.4%
At 7 10 145 266
FEEh{ESE 579 862 3,251 7,359
fa o K | FHmiESE 24 34 50 248 96.5%
At 603 896 3,301 7,607
FEEN{ESE 586 872 3,388 7612
5 RN EES 24 34 60 273 100.0%
it 610 906 3,448 7,885

- 124 -



(2) WK DIFAHIER

CERE 1)
— 1 7y inn s X PR |matek m

@ E 1 0 0 0 0

[ I 1 0 0 0 0

Bl K KR B 8 v & v 2 0 1 3 1

= D il 0 0 0 0 1

B 4 0 1 3 2

& Zl 2 1 3 0 0

% by 1 1 3 2 ]

A 3 4 4 3 7

BlK/NVE |3k ke 28y % v 4 0 6 4 2

sk & 6 4 6 ] 2

= D i 6 2 6 7 2

B 22 12 33 20 17

& Zl 70 15 94 96 118

5 by 146 109 161 155 146

o [E K = 20 16 18 12 11
™ S 1% 49 39 32 51 28
= 2 il 359 219 283 324 206

=t 644 428 533 633 509

& =t 670 440 622 661 528
I _JmiGaA ] Lk | ZEmK 5 L (%)
& Zl 0 0 0 1 0.0%

5 i 0 0 0 1 0.0%
BAkAE [ N > x o 0 0 1 8 0.1%
= 2 i 0 0 1 2 0.0%

B 0 0 2 12 0.2%

& Zl 0 1 7 14 0.2%

& I 1 2 55 74 0.9%
R 2 0 3 26 0.3%

BlA/NVE [k # Sy F o 0 1 0 17 0.2%
sk & 1 2 6 34 0.4%

Z D ) 0 1 74 101 13%

B 7 10 145 266 3.4%
& 71 110 111 842 1486 18.3%
& £ 187 303 402 1609 20.4%

o 1L K ¥ 21 37 564 699 89%
AR & 45 40 65 349 14%
= 2 ) 240 405 1428 3464 43.9%
B 603 396 3301 7607 96.5%
& B 610 906 3448 7885 100.0%

- 125 -




